Problem 9.18
Given, H(z) = by + bzt — b2 — byz™*

(a)H<Z)‘Z:1 —by+by — b — by = O.(PI’OVGd)

(b) H(e!¥) = by 4 bie /¥ — bie 7% — hpel*t = e 7192 (bye’“* +
bie?® — bre 1% — bye™7?) = [2by sin(2w) 4 2b; sin(w)]elz—7+?)

Note: e/2 = j

(c)H(%) = by + b1z — by2* — byz*. Taking z* out common:

— H(%) = 24(—[)0 — blz_l + b12_3 + b02_4>
Then, H(2) = —2*(by + b1z ' — b1z7% — bpz ) = —2'H(2)

(d) When M is even:
- . ) M/2 ‘M
H(e/) = 2672 M 37 by g sin(wk)] + bagjoe™ "2
k=0
When M is odd:

3 o A (M+1)/2 )
H(eﬂ") = 26J(7_Mw/2) kz:l b[(M+1)/2)—k] sin(%(Zk — 1))
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